Sepqraé/e. E;a,uwffoﬁj‘ A

L8

§3.2+9]
dy | — %
T =5 = VY = (- x)dx
( = Sy 4y = g@-><2>0b<
i - S
= Pé—-y =~ X -—-..‘.?ém . C{
~— , “”““‘“«fi -
r\mgttlcv{* S@IQ Loc e
g2l
iy —— S&‘Caz)’ . @H{ wm&%:.,w
X X sec?y | 4x?
= Xc@s?ydy —_a:gw,....éﬁ.ﬁm
Vg2
X
= S-l.é-(u—ms(ay))a\v = X v
1 _— : I . _ -&‘é A N %
==, ‘-é.\gr + Tgm(a/.) | "“‘rm_(_%i)ﬁt.;(
/,, earemrst
) ‘Hﬂk v an
AEE |

‘\m_&'g“c,lrl\' Solh +e ’\fi\ape’arr

-
YodY + YQ@SMS\DMG\X

= O
_ : Rema-r‘zﬁ H'/S
= S-dl “—:'femw i (<) dx ok plwans
Ya Sin Qogs?&t&ﬁ»{v
cos (<) Selve ’(O(
> —'_%,h = e + C |

=> N = ~ ! expliéﬂr sal® sinen
\ Q&:&‘(x) + C \ ] T o.c,'kuaﬂud .Segdﬁj

o Y.




o VsinG  subjeck o inted wadihon () =-3,
= SQ\IX mg&n@&@ =2 QN‘YI _ - Cos @ + (

Nete wim) = -3 =5 In|-3] = —cr () + C
= a3 = C + |
= C= fnlz) -1

= Rﬁ’y‘ = —-les O+ ,@ﬂ{?) ""'“— 1
=3 \Y! - e—-.Ccss + dn(3)~|
_ @wcr:as:c? eﬁn{?} e“i

= 3=

_— e e
-

=y = 2397

ok, (T = -3 /. w°
st chepse (=)  and

\\/:-;: ugewmsg“‘fj

§ 20 # ag)

%/ = X ({+Y) wih wl)=73

f d¢ = fxzdx
|+ 4 |

)?n//+y/--_:.:-—3]-><§+c T—t?//-fv‘g/:e e’ o

(4or cnvemena dendte iﬁ’c"’é) = Y = %béx%_ 1
Y(o) = 3 =k-/ sf=d = (%l"-':éfe’%—- '1

PH-2



§2.0%35] Blod plosma i shred ob Ho°F 8 elore P-3
W vsed W omeet be warmed 4y 4° . \hen

BN olosme. is  placed 1n on ouen of (20°F i |
okes YS minvies oo dha plama dp wers o 90°F,
A csueme N&»«A’M\FJ me ca-g Csa‘i'rxoer Q?Pif‘fff ho
lonoy Wil & dbe o warm W Adhe  quen s Set b lo®F 7
N‘éw'kﬂ\’! Lo-w aﬁ' Coal:'{ua S’i‘"ﬁ:%“@&' ‘%u.:b 3 & $U~ulf\. J(firsk:b

hon 1 femn, 15
T (tor) (e )

G Foom = +emp,

E)J@\Er@

Tt dempecedwe of blood b e £ and
R s Jd% Lcmain %\ﬂt}-\ﬂiﬁ %erf&ar&g We @SS g
k ¢ E?\d%?@ﬂﬁ@'\a‘:b a{? R (-H«er‘e oL reg..,g -t-uuurfﬁt

QX&m?\ej wihere w}f’g\&f Q.ijU\mP‘h'mn f;{;’«;k‘s‘)

9T = kit
T-R |

A l\T—-R} = ft + C,
T =Rl = expllt+c) = @C‘@’fo
T =R te" okt
- TW = R+ Cze%f

Nee, T() =40 = R+C,
R =132 J4hen Cz,

C, = Yo —R, If

kit
= Yo-130 =~ 80 and T )= (30 -80¢€
m.weouee; T('—/S‘) _ CZO = /90 —&D eﬁf*ﬁ‘é
—30 _. | Y5k ! 3 —
=™ s L) = K

The,, B =100 3 T(H =00 50 exp (g tn(%) X)
Cot T{i‘)"-'-'-’ 90 and colve AP At +o  Hnd ]f' = 89.9‘




